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4 The following table is a list of various particles, giving their usual notation and the mass of each in

unified mass units u. 1u = 1.66 x 1027 kg.

particle mass/u particle
b 1.00783 Dsr
in 1.00867 2xe
2y 2.01410 28y
He 4.00260

mass/u
89.9073
141.9070

235.0439

(a) State the meaning of the numbers 38 and 90 for strontium (St} in the table.

38 is the number of ...

90 is the number of ...

2

(b) Give reasons why the mass given for each nuclide is near to a whole number but is not exactly

a whole number.

(c) (i) Wite down the nuclear equation showing the fusion reaction between two deuterium

nuclides that result in a nuclide given in the list.

(ii)  Show that the energy released in this fusion reaction is about 24 MeV.
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(d) (i) Wite down the nuclear equation for the fission reaction using only particles and nuclides
given in the list.
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(ii) Calculate the amount of energy released for this fission reaction. Give your answer in
both joules and in electron-volts.

energy =

energy =

[Total: 16]




